
      Arithmetic CHALLENGE  

1.7.2020 - answers 
 

1)  5 x ______ x 100 = 3000 6 

a. 2) 92 81 

b. 3) Add two quarter and four 
eighths.  

8/8 = 1 

4)  

7·5 – 2·875 =  
4.625 

5) 90 × 70 = 

 

6300 

6)  

3028 – 876 =  
2152 

7)  
 

64 × 15 = 

960 

8) ______÷ 100 = 8600 
 

860000 

9) _____ – 100 = 876 

 

976 

10)  

8764 + 4541 =  
13305 

11)  

76 × 1000 =  
76000 

12) 34   ______ =3.4 

 

Divided 

10 

13) 2/5 of 320 = 

 

128 

14) _____– 100 = 872 
 

972 

15) 322 x 15 = 

 

4830 

16) 98 x 8 = 

 

784 

17) 5 of of 256 

8 

160 

18) 92 – 10 = _______  
 

71 

19) 80 – 65 ÷ 5 = 67 

20) 660 ÷ 6 =  

 

110 

 

Score  
 
 

 
 

      Working out area 

 


